Chapter 23 
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1.

(1) Calculate firm's profit or loss

(2)
If this firm were a perfect competitor, what is the lowest price it would accept in the long run?
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2.

(1) Calculate firm's profit or loss

(2)
If this firm were a perfect competitor, what is the lowest price it would accept in the long run?

3.

a. Calculate total profit or loss.
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If firm were a perfect competitor in the long run, state its price and output.

4.

a. Calculate total profit or loss.
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If firm were a perfect competitor in the long run, state its price and output.

5.
(a)
Fill in Table 1.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and 
average total cost curves.


(c)
Calculate the firm's total profit or total loss.

(c) If this firm were a perfect competitor, what would be the lowest price it would accept in the long run?

Table 1



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
    Cost
1
$33


$30




2
  31


  45




3
  29


  55




4
  27


  61




5
  25


  66




6
  23


  72




7
  21


  81




8
  19


  96



6.
(a)
Fill in Table 2.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and average total cost curves.


(c)
Calculate the firm's total profit or total loss.

(d) If this firm were a perfect competitor, what would be the lowest price it would accept in the long run?

Table 2



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
   Cost
1
$20


$30



2
  19


  50



3
  18


  62



4
  17


  72



5
  16


  84



6
  15


103



7
  14


133



8
  13


178



7.
(a)
Fill in Table 3.


(b)
Draw a graph of the firm's demand, marginal revenue, marginal cost, and 
average total cost curves.


(c)
Calculate the firm's total profit or total loss.

(d) If this firm were a perfect competitor, what would be the lowest price it would accept

                 in the long run?

Table 3



Total
Marginal
Total

Marginal

Output
Price
Revenue
Revenue
Cost
ATC
Cost
1
$16


$20



2
  15


  30



3
  14


  38



4
  13


  48



5
  12


  62



6
  11


  84



7
  10


117



8
    9


168
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